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Eg. That table measures ten feet by five.
A TAEEK 10 R, 5 5 9L

Eg. The traditional pattern of classroom experience at the college level
brings the professor and a group of 20 to 30 students together for a

45-t0-50-minute class session two or three times a week.
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BEURAZRIN TR 45 F) 50 434

. NP a SR BB ERER T, EAEHE. EL
EHBRRARTBE S,

Eg. There are 203817 voters on the electoral rolls.

A AT 203817 MEEEAN .

Eg. Nearly thirty thousand voters took part in this election.

I3 A BERNSIN T IR IRE2E
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=. BEIHY. Aot WERARRRECT, B MR EET.

Eg. Maximum swivel of table is [20.

ARG B K e /1 B2 120 .

Eg. 3rd March 1991 =% 3 March 1991;

a discount of 5 percent (5%1I#1#1) ;

Eg. purchased 7 yards of carpet (3£ 7 idhEs) ;

Eg. ordered 2 pounds of minced steak (1] 2 f% A1)
WS R E H AR AN E R, AT B R R .

Eg. about five miles per hour (f/Nif K2y 5 G i)

Eg. at least ten yards away (£ /b4 10 fidic)

Eg. hesitated for a moment or two CiE# 7 7 %D

Eg. | have warned you a hundred times (k&5 KL /i T . )

0. FEROCES, BB, MR Ha%ey thH R pRiR
EHH.

Eg. The new engine has a capacity of 4.3 litres and a power output of 153

kilowatts at 4400 revolutions per minute.

K REBUI RN 4.3 T, Feid hyhpIr B 4400 ¥, 4 Th= 2 153
T I

Eg. We know that the weight of a cubic foot of air at 0?C and 76cm,

pressure is 0.08I pound, or 12 cubic feet of air weigh a pound.

BAVHE, 1 7T5 9 U 23S O BT 760 KRR T, B
0.81 ff, WALV 12 U7 g RS ME R 1.
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h. ATEAHRR AT, ARERER %R EET .

Eg. 4th July is an important date in American history.

%5 1% The fourth of July...

Eg. 19 couples took part in the ballroom dancing competition.

19 XET-ZIn T AZbr b L3k

N5 %: Nineteen couples took...

Eg. 60% profit was a reported.

PRIEA 60% IR

NS fk: Sixty per cent profit...

Eg. 1345 kilograms force was applied at the center point of the bar.
WIS, FEFFRI R RN T 1345 A7 7.

] %Ak When tested, a force of 1345 kg was applied...

N BEIGE, W HAEFR R BRIER R

Eg. At 1least two-thirds of the class have had colds.
XANPERDH = KA REKE
Eg. Nitrogen forms about four-fifths of the atmosphere.

RA KM 2.
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